Discussiones Mathematicae General Algebra and Applications 33 (2013) 249–259 doi:10.7151/dmgaa.1204

TRANSFORMATION SEMIGROUPS ASSOCIATED TO Γ -SEMIGROUPS

DARIUSH HEIDARI

Department of Mathematics, Najafabad Branch Islamic Azad University Najafabad, Isfahan, Iran **e-mail:** dheidari82@gmail.com

AND

Marzieh Amooshahi

Department of Mathematics, Najafabad Branch Islamic Azad University Najafabad, Isfahan, Iran e-mail: mz.amooshahi@gmail.com

Abstract

The concept of Γ -semigroups is a generalization of semigroups. In this paper, we associate two transformation semigroups to a Γ -semigroup and we call them the left and right transformation semigroups. We prove some relationships between the ideals of a Γ -semigroup and the ideals of its left and right transformation semigroups. Finally, we study some relationships between Green's equivalence relations of a Γ -semigroup and its left (right) transformation semigroup.

Keywords: transformation semigroup, Γ-semigroup, Green's relations. **2010 Mathematics Subject Classification:** 20M20.

1. INTRODUCTION

The full transformation semigroup on a set X is the semigroup T_X of all transformations on X (i.e., all mappings from X to itself) under the operation of composition of mappings. Any subsemigroup of T_X is called a transformation semigroup. Transformation semigroups are ubiquitous in semigroup theory because of Cayleys Theorem which states that every semigroup embeds in some transformation semigroup. The study of transformation semigroups has applications in fields as diverse as probability, automata theory, and discrete dynamical systems.

The notion of a Γ -semigroup was introduced by Sen in [10] and [11] that is a generalization of a semigroup. Many classical notions of semigroups have been extended to Γ -semigroups (see, for example, [4, 9, 12, 13] and [14]). Dutta and Adhikari have found operator semigroups of a Γ -semigroup to be a very effective tool in studying Γ -semigroups [5]. Recently, Davvaz et al. introduced the notion of Γ -semihypergroups as a generalization of semigroups, a generalization of a semihypergroups and a generalization of Γ -semigroups [1, 6, 7].

In this paper, we associate two transformation semigroups to a Γ -semigroup that are called the left and right transformation semigroups. Also, we prove some relationships between the ideals of a Γ -semigroup and the ideals of its left and right transformation semigroups. Also, some relationships between Green's equivalence relations of a Γ -semigroup and its left (right) transformation semigroup are studied.

2. Preliminaries

In this section, we recall some preliminary definitions of Γ -semigroups.

Definition [11]. Let $S = \{a, b, c, ...\}$ and $\Gamma = \{\alpha, \beta, \gamma, ...\}$ be two non-empty sets. Then, S is called a Γ -semigroup if there exists a mapping $S \times \Gamma \times S \longrightarrow S$, written (a, γ, b) by $a\gamma b$, such that satisfies the following conditions:

- (1) $a\alpha b \in S$ for all $a, b \in S$ and $\alpha \in \Gamma$;
- (2) $(a\alpha b)\beta c = a\alpha(b\beta c)$ for all $a, b, c \in S$ and $\alpha, \beta \in \Gamma$.

A Γ -semigroup S is called commutative if $x\alpha y = y\alpha x$ for every $x, y \in S$ and $\alpha \in \Gamma$.

Let S be a Γ -semigroup. Then, (S, α) is a semigroup for every $\alpha \in \Gamma$ and we denote this semigroup by S_{α} .

Let A and B be two subsets of a Γ -semigroup S and $\Delta \subseteq \Gamma$. Then, $A\Delta B$ is defined as follows

$$A\Delta B = \{a\delta b \mid a \in A, b \in B \text{ and } \delta \in \Delta\}.$$

For simplicity, we write $a\Delta B$, $A\Delta b$ and $A\delta B$ instead of $\{a\}\Delta B$, $A\Delta\{b\}$ and $A\{\delta\}B$, respectively.

Let S be an arbitrary semigroup and Γ be a non-empty set. Define a mapping $S \times \Gamma \times S \longrightarrow S$ by $a\alpha b = ab$ for all $a, b \in S$ and $\alpha \in \Gamma$. It is easy to see that S is a Γ -semigroup. Thus, a semigroup can be considered as a Γ -semigroup.

In the following, some examples of Γ -semigroups are presented.

250

Example 1. Let $S = \{-i, 0, i\}$ and $\Gamma = S$. Then, S is a Γ -semigroup under the multiplication over complex numbers while S is not a semigroup under complex numbers multiplication.

Example 2. Let S be the set of all $m \times n$ matrices with entries from a field F and Γ be a set of $n \times m$ matrices with entries from F. Then, S is a Γ -semigroup with the usual product of matrices.

A non-empty subset T of a Γ -semigroup S is said to be a Γ -subsemigroup of S if $T\Gamma T \subseteq T$.

A non-empty subset I of a Γ -semigroup S is called a left (right) Γ -ideal, "ideal, for short" of S, if $S\Gamma I \subseteq I$ ($I\Gamma S \subseteq I$).

Definition [11]. Let S be a Γ -semigroup. A proper ideal P of S is called a prime ideal if for any two ideals I and J of S, $I\Gamma J \subseteq P$ implies $I \subseteq P$ or $J \subseteq P$.

Definition [5]. Let S be a Γ -semigroup. Define a relation ρ on $S \times \Gamma$ as follows:

$$(x, \alpha)\rho(y, \beta) \iff x\alpha s = y\beta s, \forall s \in S.$$

Obviously ρ is an equivalence relation. Let $[x, \alpha]$ denotes the equivalence class containing (x, α) . Let $L = \{[x, \alpha] \mid x \in S, \alpha \in \Gamma\}$. Then, L is a semigroup where $[x, \alpha][y, \beta] = [x\alpha y, \beta]$, for all $x, y \in S$ and $\alpha, \beta \in \Gamma$. The semigroup L is called the left operator semigroup of S. Similarly, right operator semigroup R of a Γ semigroup S is defined as $R = \{[\alpha, x] \mid \alpha \in \Gamma, x \in S\}$, where $[\alpha, x][\beta, y] = [\alpha, x\beta y]$, for all $x, y \in S$ and $\alpha, \beta \in \Gamma$.

Let S be a Γ -semigroup, $a \in S$ and $\alpha, \beta \in \Gamma$. Then a is said to be α -idempotent if $a\alpha a = a$. Also, a is said to be (α, β) -regular if there exists $x \in S$ such that $a = a\alpha x\beta a$.

3. Main results

Throughout the paper we assume that S is a Γ -semigroup. In this section, we follow the notations of [3], namely, if $f \in T_X$, then we write

$$f = \left(\begin{array}{c} x_i \\ y_i \end{array}\right)$$

where, $f(x_i) = y_i$ and *i* belongs to an index set *I*.

For every $x \in S$ and $\alpha \in \Gamma$ we associate two mappings $f_{x,\alpha} : S \longrightarrow S$ by $f_{x,\alpha}(s) = x\alpha s$ and $f_{\alpha,x} : S \longrightarrow S$ by $f_{\alpha,x}(s) = s\alpha x$.

Now, consider two subsets $T_r(S)$ and $T_l(S)$ of the transformation semigroup T_S defined by

$$T_l(S) = \{ f_{x,\alpha} \mid x \in S, \alpha \in \Gamma \}$$

and

$$T_r(S) = \{ f_{\alpha,x} \mid x \in S, \alpha \in \Gamma \}.$$

Theorem 3. $T_l(S)$ and $T_r(S)$ are subsemigroups of the full transformation semigroup T_S .

Proof. Suppose that $f_{x,\alpha}$ and $f_{y,\beta}$ are two elements of $T_l(S)$ such that $x, y \in S$ and $\alpha, \beta \in \Gamma$. Then, for every $s \in S$, we have

$$(f_{x,\alpha} \circ f_{y,\beta})(s) = f_{x,\alpha}(f_{y,\beta}(s))$$
$$= f_{x,\alpha}(y\beta s)$$
$$= x\alpha(y\beta s)$$
$$= (x\alpha y)\beta s$$
$$= f_{x\alpha y,\beta}(s).$$

Thus, $f_{x,\alpha} \circ f_{y,\beta} = f_{x\alpha y,\beta} \in T_l(S)$. So, $T_l(S)$ is closed under composition. Therefore, $T_l(S)$ is a subsemigroup of T_S . Similarly, one can prove that $T_r(S)$ is a subsemigroup of T_S .

 $T_l(S)$ and $T_r(S)$ are called the left and right transformation semigroups of S, respectively.

It is easy to see that if S is a commutative Γ -semigroup, then $T_l(S) = T_r(S)$.

Example 4. Let $S = \{a, b, c, d\}$ and $\Gamma = \{\alpha, \beta\}$. We define the operations α and β as the following tables

α		a	b	c	d	β	a	b	c	d
a	;	b	b	c	d	a	c	c	c	d
b		b	b	c	d	b	c	c	c	d
С	:	c	c	c	d	c	c	c	c	d
d	,	d	d	d	d	d	d	d	d	d

then, S is a commutative $\Gamma\text{-semigroup}$ and we obtain the transformation semigroups of S as follows

$$T_l(S) = \left\{ \left(\begin{array}{ccc} a & b & c & d \\ b & b & c & d \end{array} \right), \left(\begin{array}{ccc} a & b & c & d \\ c & c & c & d \end{array} \right), \left(\begin{array}{ccc} a & b & c & d \\ d & d & d & d \end{array} \right) \right\} = T_r(S).$$

For every $A \subseteq S$, we define

$$T_l(A) = \{ f_{x,\alpha} \in T_l(S) \mid x\alpha s \in A, \forall s \in S \},$$
$$T_r(A) = \{ f_{\alpha,x} \in T_r(S) \mid s\alpha x \in A, \forall s \in S \}.$$

Also, for every $B \subseteq T_l(S)$ and $C \subseteq T_r(S)$ we define

$$S_l(B) = \{ x \in S \mid f_{x,\alpha} \in B, \forall \alpha \in \Gamma \},$$
$$S_r(C) = \{ x \in S \mid f_{\alpha,x} \in C, \forall \alpha \in \Gamma \}.$$

If there exist elements $e \in S$ and $\delta \in \Gamma$ such that $e\delta x = x$ for every $x \in S$, then S is said to have a left unity. Similarly, if there exist elements $e \in S$ and $\delta \in \Gamma$ such that $x\delta e = x$ for every $x \in S$, then S is said to have a right unity.

Remark 5. If S has a left unity, then $f_{e,\delta}$ is the identity mapping. Also, if S has a right unity, then $f_{\delta,e}$ is the identity mapping.

Lemma 6. Let A and B be two subsets of S and C and D be two subsets of $T_l(S)$. Then

- (1) $T_l(A \cap B) = T_l(A) \cap T_l(B);$
- (2) $S_l(C \cap D) = S_l(C) \cap S_l(D);$
- (3) $S_l(C)\Gamma S_l(D) \subseteq S_l(C \circ D);$
- (4) If S has a left unity, then $T_l(A) \circ T_l(B) \subseteq T_l(A \cap B)$.

Proof. The proofs of (1) and (2) are straightforward.

(3) Suppose that C and D are two subsets of $T_l(S)$ and $x \in S_l(C) \Gamma S_l(D)$. Then, there exist $y \in S_l(C)$ and $z \in S_l(D)$ and $\alpha \in \Gamma$ such that $x = y\alpha z$. So, $f_{y,\alpha} \in C$ and for every $\beta \in \Gamma$, $f_{z,\beta} \in D$. Thus, $f_{x,\beta} = f_{y,\alpha} \circ f_{z,\beta} \in C \circ D$ which implies that $x \in S_l(C \circ D)$. Therefore, $S_l(C) \Gamma S_L(D) \subseteq S_l(C \circ D)$.

(4) Suppose that $f_{e,\delta} = id_S$, for some $e \in S$ and $\delta \in \Gamma$. Let A and B be two subsets of S. If $f_{x,\alpha} \in T_l(A) \circ T_l(B)$, then there exist $y, z \in S$ and $\beta, \gamma \in \Gamma$ such that

$$f_{x,\alpha} = f_{y,\beta} \circ f_{z,\gamma} = f_{y\beta z,\gamma}$$

where, $f_{y,\beta} \in T_l(A)$ and $f_{z,\gamma} \in T_l(B)$. So, $y\beta S \subseteq A$ and $z\gamma S \subseteq B$, thus we have

$$\begin{aligned} x\alpha s &= f_{x,\alpha}(s) \\ &= f_{y\beta z,\gamma}(s) \\ &= (y\beta z)\gamma s \\ &= y\beta(z\gamma s) \\ &= y\beta(e\delta(z\gamma s)) \\ &= (y\beta e)\delta(z\gamma s) \in A\Gamma B. \end{aligned}$$

So, $f_{x,\alpha} \in T_l(A\Gamma B)$. Therefore, $T_l(A) \circ T_l(B) \subseteq T_l(A\Gamma B)$.

The following examples show that in the parts (3) and (4) of the previous lemma, the equality does not necessarily hold.

Example 7. In Example 3, let $C = \left\{ \begin{pmatrix} a & b & c & d \\ b & b & c & d \end{pmatrix} \right\}$ and $D = \left\{ \begin{pmatrix} a & b & c & d \\ d & d & d & d \end{pmatrix} \right\}$. Then, $S_l(C) = \emptyset$, $S_l(D) = \{d\}$ and $S_l(C \circ D) = \{d\}$. So, we have

$$S_l(C)\Gamma S_l(D) = \emptyset \subsetneq \{d\} = S_l(C \circ D).$$

Example 8. Let S be a closed interval [0, 1] and $\Gamma = \{1, 2, 3\}$. For every $x, y \in S$ and $\gamma \in \Gamma$, we define $x\gamma y = \frac{xy}{\gamma}$. Then, for every $x, y, z \in S$ and $\alpha, \beta \in \Gamma$, we have

$$(x\alpha y)\beta z = \frac{xyz}{\alpha\beta} = x\alpha(y\beta z).$$

This means that S is a Γ -semigroup such that $f_{1,1} = id_S$.

Now, consider $A = \{0\}$ and $B = \{1\}$ as two subsets of S = [0, 1]. Then, $T_l(A) = \{0\}, T_l(B) = \emptyset$ and we have

$$T_l(A) \circ T_l(B) = \emptyset \subsetneq \{0\} = T_l(A \Gamma B).$$

Lemma 9. The following assertions hold

- (1) If A is an ideal of S, then $T_l(A)$ is an ideal of $T_l(S)$ and $A \subseteq S_l(T_l(A))$. Moreover, if S has a right unity, then $A = S_l(T_l(A))$;
- (2) If B is an ideal of $T_l(S)$, then $S_l(B)$ is an ideal of S and $B \subseteq T_l(S_l(B))$. Moreover, if S has a left unity, then $B = T_l(S_l(B))$;
- (3) If S has a right unity and P is a prime ideal of S, then $T_l(P)$ is a prime ideal of $T_l(S)$;
- (4) If S has a left unity and Q is a prime ideal of $T_l(S)$, then $S_l(Q)$ is a prime ideal of S.

Proof. (1) Suppose that A is an ideal of S and $f_{a,\alpha} \in T_l(A)$. Then, for every $x, s \in S$ and $\beta \in \Gamma$, we have $a\alpha(x\beta s) \in A$ so $f_{a,\alpha} \circ f_{x,\beta} = f_{a\alpha x,\beta} \in T_l(A)$. Similarly, we can prove that $f_{x,\beta} \circ f_{a,\alpha} = f_{x\beta a,\alpha} \in T_l(A)$. Therefore, $T_l(A)$ is an ideal of $T_l(S)$.

Now, let $x \in A$. Then, for every $s \in S$ and $\alpha \in \Gamma$ we have $x\alpha s \in A$. So, $f_{x,\alpha} \in T_l(A)$, thus $x \in S_l(T_l(A))$, therefore $A \subseteq S_l(T_l(A))$.

Suppose that S has a right unity so there exist $e \in S$ and $\delta \in \Gamma$ such that $s\delta e = s$, for every $s \in S$. If $x \in S_l(T_l(A))$, then for every $\alpha \in \Gamma$ we have $f_{x,\alpha} \in T_l(A)$. So, $x = x\delta e \in x\Gamma S \subseteq A$, thus $S_l(T_l(A)) \subseteq A$, therefore $A = S_l(T_l(A))$.

(2) Suppose that B is an ideal of $T_l(S)$ and $x \in S_l(B)$. Then, $f_{x,\alpha} \in B$ for every $\alpha \in \Gamma$. So, for all $s \in S$ and $\beta \in \Gamma$ we have $f_{x\alpha s,\beta} = f_{x,\alpha} \circ f_{s,\beta} \in B$, thus $x\alpha s \in S_l(B)$. Similarly, we have $s\alpha x \in S_l(B)$. Therefore, $S_l(B)$ is an ideal of S.

Now, let $f_{x,\alpha} \in B$. Then, for every $s \in S$ and $\beta \in \Gamma$ we have $f_{x\alpha s,\beta} = f_{x,\alpha} \circ f_{s,\beta} \in B$, since B is an ideal of $T_l(S)$. So, $x\alpha s \in S_l(B)$, thus $f_{x,\alpha} \in T_l(S_l(B))$, therefore $B \subseteq T_l(S_l(B))$.

Suppose that S has a left unity, then there exist $e \in S$ and $\delta \in \Gamma$ such that $e\delta s = s$, for every $s \in S$. If $f_{x,\alpha} \in T_l(S_l(B))$, then for every $s \in S$ we have $x\alpha s \in S_l(B)$. So, $f_{x,\alpha} = f_{x,\alpha} \circ f_{e,\delta} = f_{x\alpha e,\delta} \in B$.

(3) Suppose that P is a prime ideal of S and C and D are ideals of $T_l(S)$ such that $C \circ D \subseteq T_l(P)$. So, by part (3) of Lemma 6 and part (1), we have $S_l(C)\Gamma S_l(D) \subseteq S_l(T_l(P)) = P$. Now, since P is prime we conclude that $S_l(C) \subseteq$ P or $S_l(D) \subseteq P$. So, by part (1), we have $C \subseteq T_l(P)$ or $D \subseteq T_l(P)$. Therefore, $T_l(P)$ is a prime ideal of $T_l(S)$.

(4) Suppose that Q is a prime ideal of $T_l(S)$ and I and J are ideals of S such that $I\Gamma J \subseteq S_l(Q)$. So, by part (4) of Lemma 6 and part (2), we have $T_l(I) \circ T_l(J) \subseteq T_l(S_l(Q)) = Q$. Now, since Q is prime we conclude that $T_l(I) \subseteq Q$ or $T_l(J) \subseteq Q$. So, by part (2), we have $I \subseteq S_l(Q)$ or $J \subseteq S_l(Q)$. Therefore, $S_l(Q)$ is a prime ideal of S.

Theorem 10. There is an inclusion preserving bijection between the set of all ideals of S and the set of all ideals of $T_l(S)$.

Proof. Suppose that $\mathcal{I}(S)$ and $\mathcal{I}(T_l(S))$ are the sets of all ideals of S and $T_l(S)$, respectively. Then, it is easy to see that the mapping

$$T_l: \mathcal{I}(S) \longrightarrow \mathcal{I}(T_l(S))$$
$$I \longmapsto T_l(I)$$

is well-defined and is an inclusion preserving mapping. It remains to show that T_l is monotone. Since S has a left unity, there exist $e \in S$ and $\delta \in \Gamma$ such that $e\delta s = s$, for every $s \in S$. Let I and J be two ideals of S such that $T_l(I) = T_l(J)$. Then for every $a \in S$ we have $a \in I$ if and only if $f_{a,\delta} \in T_l(I)$ if and only if $f_{a,\delta} \in T_l(J)$ if and only if $a \in J$. Hence I = J and so T_l is monotone.

In the following theorem, we prove that two semigroups associated to a Γ -semigroup in Definition 2 and Theorem 3 are isomorphic.

Theorem 11. The left transformation semigroup and the left operator semigroup of S are isomorphic.

Proof. Suppose that $T_l(S)$ is the left transformation semigroup and L is the left operator semigroup of S. Then, the mapping

$$\varphi: T_l(S) \longrightarrow L$$

 $\varphi(f_{x,\alpha}) = [x, \alpha]$

is well-defined, as if $f_{x,\alpha} = f_{y,\beta}$ for some $x, y \in S$ and $\alpha, \beta \in \Gamma$, then for every $s \in S$ we have $x\alpha s = f_{x,\alpha}(s) = f_{y,\beta}(s) = y\beta s$ and so $[x, \alpha] = [y, \beta]$. Also, for every $x, y \in S$ and $\alpha, \beta \in \Gamma$ we have

$$\begin{split} \varphi(f_{x,\alpha} \circ f_{y,\beta}) &= \varphi(f_{x\alpha y,\beta}) \\ &= [x\alpha y,\beta] \\ &= [x,\alpha][y,\beta] \\ &= \varphi(f_{x,\alpha})\varphi(f_{y,\beta}) \end{split}$$

So φ is a homomorphism. Obviously, φ is one-to-one and onto. Therefore, φ is an isomorphism and $T_l(S) \cong L$.

Green's equivalence relations for semigroups, first studied by Green [8], have played a fundamental role in the development of semigroup theory (for more details see [3]). Chinram and Siammai have studied Green's relations for Γ semigroups [2].

Definition. Let A be a semigroup and $a, b \in A$. Then the Green's equivalence relations \mathcal{L} and \mathcal{R} are defined by the following rules:

- (1) $(a, b) \in \mathcal{L}$ if and only if $\langle a \rangle_l = \langle b \rangle_l$;
- (2) $(a,b) \in \mathcal{R}$ if and only if $\langle a \rangle_r = \langle b \rangle_r$.

Green's relations of a Γ -semigroup are defined similarly. Let $a \in S$. Then

$$\langle a \rangle_l = S\Gamma a \cup \{a\}$$
 and $\langle a \rangle_r = a\Gamma S \cup \{a\}.$

Thus $(a, b) \in \mathcal{L}$ if and only if a = b or there exist $x, y \in S$ and $\alpha, \beta \in \Gamma$ such that $a = x\alpha b$ and $b = y\beta a$. Similarly, $(a, b) \in \mathcal{R}$ if and only if a = b or there exist $x, y \in S$ and $\alpha, \beta \in \Gamma$ such that $a = b\alpha x$ and $b = a\beta y$.

256

In the following, we study some relationships between Green's relations of a Γ semigroup and its left (right) transformation semigroup. The notations \mathcal{L}_S and \mathcal{R}_S are used for Green's relations of a Γ -semigroup S. Similarly, \mathcal{L}_{T_l} and \mathcal{R}_{T_l} are used for Green's relations of the left transformation semigroup of S. Also, \mathcal{L}_{T_r} and \mathcal{R}_{T_r} are used for Green's relations of the right transformation semigroup
of S.

Lemma 12. Let x be an element of S and α and β be two elements of Γ . Then

- (1) If x is α -idempotent, then $f_{x,\alpha}$ is idempotent;
- (2) If x is (α, β) -regular, then $f_{x,\alpha}$ is regular.
- (3) If x is α -idempotent, then $f_{\alpha,x}$ is idempotent.
- (4) If x is (α, β) -regular, then $f_{\beta,x}$ is regular.

Proof. (1) Since x is α -idempotent, $f_{x,\alpha} \circ f_{x,\alpha} = f_{x\alpha x,\alpha} = f_{x,\alpha}$. So $f_{x,\alpha}$ is idempotent.

(2) Since x is (α, β) -regular, there exists $y \in S$ such that $x = x\alpha y\beta x$. So $f_{x,\alpha} \circ f_{y,\beta} \circ f_{x,\alpha} = f_{x\alpha y\beta x,\alpha} = f_{x,\alpha}$ and thus $f_{x,\alpha}$ is regular.

- (3) The proof is similar to (1).
- (4) The proof is similar to (2).

Theorem 13. Let a and b be two elements of S. Then

- (1) If $(a, b) \in \mathcal{R}_S$, then $(f_{\alpha, a}, f_{\alpha, b}) \in \mathcal{L}_{T_l}$, for every $\alpha \in \Gamma$;
- (2) If $(a,b) \in \mathcal{L}_S$, then $(f_{a,\alpha}, f_{b,\alpha}) \in \mathcal{L}_{T_l}$, for every $\alpha \in \Gamma$;
- (3) Let a be α -idempotent and b be β -idempotent for some $\alpha, \beta \in \Gamma$ such that $(f_{a,\alpha}, f_{b,\beta}) \in \mathcal{R}_{T_l}$. Then $(a, b) \in \mathcal{R}_S$.

Proof. (1) If $(a,b) \in \mathcal{R}_S$, then there exist $x, y \in S$ and $\gamma, \lambda \in \Gamma$ such that $a = b\gamma x$ and $b = a\lambda y$. Thus for every $s \in S$, we have $s\alpha a = s\alpha b\gamma x$ and $s\alpha b = s\alpha a\lambda y$ which implies that $f_{\alpha,a} = f_{\gamma,x} \circ f_{\alpha,b}$ and $f_{\alpha,b} = f_{\lambda,y} \circ f_{\alpha,a}$. Therefore, $(f_{\alpha,a}, f_{\alpha,b}) \in \mathcal{R}_{T_l}$.

(2) If $(a, b) \in \mathcal{L}_S$, then there exist $x, y \in S$ and $\gamma, \lambda \in \Gamma$ such that $a = x\gamma b$ and $b = y\lambda a$. Thus for every $s \in S$, we have $a\alpha s = x\gamma b\alpha s$ and $b\alpha s = y\lambda a\alpha s$ which implies that $f_{a,\alpha} = f_{x,\gamma} \circ f_{b,\alpha}$ and $f_{b,\alpha} = f_{y,\lambda} \circ f_{a,\alpha}$. Therefore, $(f_{a,\alpha}, f_{b,\alpha}) \in \mathcal{L}_{T_l}$.

(3) Suppose that $(f_{a,\alpha}, f_{b,\beta}) \in \mathcal{R}_{T_l}$. Then there exist $x, y \in S$ and $\gamma, \lambda \in \Gamma$ such that $f_{a,\alpha} = f_{b,\beta} \circ f_{x,\gamma} = f_{b\beta x,\gamma}$ and $f_{b,\beta} = f_{a,\alpha} \circ f_{y,\lambda} = f_{a\alpha y,\lambda}$. Thus

$$a = a\alpha a = f_{a,\alpha}(a) = f_{b\beta x,\gamma}(a) = b\beta(x\gamma a) \in \langle b \rangle_r$$

and

$$b = b\beta b = f_{b,\beta}(b) = f_{a\alpha y,\lambda}(b) = a\alpha(y\lambda b) \in \langle a \rangle_r$$

Therefore, $(a, b) \in \mathcal{R}_S$.

Let ρ be an equivalence relation on a set A and $a \in A$. Then the ρ -class containing a is denoted by $[\rho_A]_a$.

Theorem 14. Let α be an element of Γ and x be an α -idempotent element of S. Then for every $y \in S$ the following assertions hold

- (1) $y \in [\mathcal{L}_S]_x$ if and only if $f_{y,\alpha} \in [\mathcal{L}_{T_l}]_{f_{x,\alpha}}$;
- (2) $y \in [\mathcal{R}_S]_x$ if and only if $f_{\alpha,y} \in [\mathcal{L}_{T_r}]_{f_{\alpha,x}}$.

Proof. (1) $y \in [\mathcal{L}_S]_x$ if and only if there exist $z, t \in S$ and $\gamma, \lambda \in \Gamma$ such that $x = z\gamma y$ and $y = t\lambda x$ if and only if for every $s \in S$,

$$f_{x,\alpha}(s) = x\alpha s = (z\gamma y)\alpha s = f_{z,\gamma} \circ f_{y,\alpha}(s)$$

and

$$f_{y,\alpha}(s) = y\alpha s = (t\lambda x)\alpha s = f_{t,\lambda} \circ f_{x,\alpha}(s)$$

if and only if

$$f_{x,\alpha} = f_{z,\gamma} \circ f_{y,\alpha} \in < f_{y,\alpha} >_l$$

and

$$f_{y,\alpha} = f_{t,\lambda} \circ f_{x,\alpha} \in < f_{x,\alpha} >_l$$

if and only if $f_{y,\alpha} \in [\mathcal{L}_{T_l}]_{f_{x,\alpha}}$.

(2) $y \in [\mathcal{R}_S]_x$ if and only if there exist $z, t \in S$ and $\gamma, \lambda \in \Gamma$ such that $x = y\gamma z$ and $y = x\lambda t$ if and only if for every $s \in S$,

$$f_{\alpha,x}(s) = s\alpha x = s\alpha(y\gamma z) = f_{\gamma,z} \circ f_{\alpha,y}(s)$$

and

$$f_{\alpha,y}(s) = s\alpha y = s\alpha(x\lambda t) = f_{\lambda,t} \circ f_{\alpha,x}(s)$$

if and only if

 $f_{\alpha,x} = f_{\gamma,z} \circ f_{\alpha,y} \in < f_{\alpha,y} >_l$

and

$$f_{\alpha,y} = f_{\lambda,t} \circ f_{\alpha,x} \in < f_{\alpha,x} >_l$$

if and only if $f_{\alpha,y} \in [\mathcal{L}_{T_r}]_{f_{\alpha,x}}$.

258

It is necessary to note that all facts that mentioned and proved for the left transformation semigroup of a Γ -semigroup are hold for the right transformation semigroup of a Γ -semigroup and proved in similar ways.

Acknowledgement

The authors are highly grateful to referees for their valuable comments and suggestions for improving the paper.

References

- S.M. Anvariyeh, S. Mirvakili and B. Davvaz, On Γ-hyperideals in Γ-semihypergroups, Carpathian 26 (2010) 11–23.
- [2] R. Chinram and P. Siammai, On Green's relations for Γ-semigroups and reductive Γ-semigroups, Int. J. Algebra 2 (2008) 187–195.
- [3] A.H. Clifford and G.B. Preston, The Algebraic Theory of Semigroups (American Mathematical Society, 1967).
- [4] T.K. Dutta and N.C. Adhikari, On Noetherian Γ-semigroup, Kyungpook Math. J. 36 (1996) 89–95.
- [5] T.K. Dutta and N.C. Adhikary, On Γ-semigroup with right and left unities, Soochow J. of Math 19(4) (1993) 461–474.
- [6] D. Heidari, S.O. Dehkordi and B. Davvaz, Γ-Semihypergroups and their properties, UPB. Sci. Bull. Ser A 72(1) (2010) 197–210.
- [7] D. Heidari and B. Davvaz, Γ-hypergroups and Γ-Semihypergroups associated to binary relations, Iran. J. Sci. Technol. Trans. A Sci. A2 (2011) 69–80.
- [8] J.A. Green, On the structure of semigroups, Annal of Mathematics 54 (1951) 163-172.doi:10.2307/1969317
- [9] N.K. Saha, On Γ-semigroup II, Bull. Cal. Math. Soc. **79** (1987) 331–335.
- [10] M.K. Sen, On Γ-semigroups, in: Int. Conf. on Algebra and it's Appl, Decker Publication (Ed(s)), (New York, 1981).
- [11] M.K. Sen and N.K. Saha, On Γ-semigroup I, Bull. Cal. Math. Soc. 78 (1986) 180–186.
- [12] A. Seth, Γ-group congruences on regular Γ-semigroups, Int. J. Math. Math. Sci. (1992) 103–106.
- [13] M. Siripitukdet and A. Iampan A, On the Ideal Extensions in Γ-semigroups, Kyungpook Math. J. 48 (2008) 585–591. doi:10.5666/KMJ.2008.48.4.585
- [14] M. Siripitukdet and A. Iampan, Least Regular Order with Respect to a Regular Congruence on Ordered Γ-Semigroups, Acta Mathematica Sinica, English Series 28(5) (2012) 975–982. doi:10.1007/s10114-011-9702-x

Received 17 August 2013 Revised 10 September 2013